
 

Consider seta xtb

x'tax bx tab
I Cats x tab

This is called expanding brackets

Factorising is the reverse of C his process

consider 22 5 6 I 6
I 6

x 2 x 3 2 3
Z 3

why do this

Suppose we are solving
22 5 6 0

x 2 x 3 0

Either x 2 0 or act 3 0

x 2 x 3

Example 2
t 6 8 I 8

l 8
X 1 2 x 4 2 4

Z 4

We are looking for two numbers which

multiply to 1 8 and add to t 6

Quadratic Expressions and Quadratic Equations



Ex 3 2 11 24 I 24

Get 3 x 8
l 24
2 1 R
Z 12
3 1 8
3 8
etc 6
4 6

Exercise Factorise

D x 9 8 X 1 acts

2 of Txt to x 2 sets

3 I Zoe t l x a x i

4 of t 13 30 set 3 actio

5 x t 9 14 x 2 ate

Ex 4
22 Gsc 5 t l 5

x 1 x s
i s

Exercise

1 I 8 15 x 3 Xx 5

2 I 4 3 t x 1 se 3



5 22 5 14 1 l 14
I 1 14

x 2 x 17 2 7
2 t

Ex 6 x X 12 I 12
X 1 3 x 4 I 12

2 G
Z 1 G

3 a

3 4

Exercise
I 8

1 22 Tx 8 l to
2 a

x 1 x 8 Z ta

1 102 I 3 10 I too
se 2 sets 2 5

Z 5

3 x ta 2 I 2
X 1 x z l 2

d x 8 20 I I
x 2 x lo z lov

z c co
T

5 22 4k 21 a 5

3 x 7 i 21
I 21
3 a
3 7


